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General Instructions :

(i)  All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated again.ét each.

(iit) Questions No. 1~5 and 17 ~21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

(iv) Questions No. 6-10 and 22-26 are short-answer questions
carrying 8 marks each. Answers to them should normally not exceed
60 words each.

(v)  Questions No. 11 ~-13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi)  Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each. '

(vit) Answers should be brief and to the point and the above word limits

' should be adhered to as far as possible.
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SECTION A

Wrg A

1. Define microeconomics. 1
f-erfame & IR T |

2. What is market equilibrium ? 1
IR §qe ¥ T g @ 2

3. Define market demand. 1
FER AT B ARamr T

4. Give meaning of “Change in quantity supplied”. 1
“gf W # uRada” @ g SRy |

5. Define ‘Revenue’. ' ' 1

gy # oRem AR |

6. Explain how a production possibility curve is affected when resources
are inefficiently employed in an economy. ' 3
I srforeer ¥ WOEH <aT ¥ FE 9 W W@ E @ IR SEdr @ W OF
S TS & 7 WHST |

7. A consumer buys 17 units of a good at a price of ¥ 10 per unit. When
price falls to ¥ 8 per unit the consumer buys 23 units. Using the
expenditure approach, what will you say about price elasticity of
demand of the good ? 3

T SUARA Uk g% T 10 WA THE SEd W 17 IHEA Gl @ | W Fiua
i 9 T 8 9fd 3o & <t € o 9 23 IwRal wiea € | =99 fafy & emm
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Note :

qe

10.

Giving examples, distinguish between fixed cost and variable cost.

3TET | FE feR v ok o v & @9 i TRy |

Draw Total Revenue Curve and Marginal Revenue Curve of a firm
which is free to sell any quantity of the good at a given price. Explain.

,@Wﬁﬁﬂﬁmwmaﬂmﬂﬂwéﬁ%mm%lw

it =k 3 diwig dafa a% ST | §HEET |

The following question is for the Blind Candidates only, in lieu of
Q. No. 9.
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Explain the relation between Total Revenue and Marginal Revenue of
a firm which is free to sell any quantity it likes at a given price.

@ T SiNg W oawg @ e o W o9ee & fau wds @ 0 W @ g
Unftg ik g g9 & e 9o TRy |

Explain the implication of the feature ‘freedom of entry and exit to
firms’ under perfect competition.

OR

Explain the implication of the feature ‘large number of sellers’ under
perfect competition.

wof wfREfr & st tﬁﬁfﬁmaﬁtﬁ?ﬂqﬁw & fereren o1 gRom

- HHERT

11.

reat
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Derive the inverse relation between price of a good and its demand
from the single commodity equilibrium condition '
‘Marginal utility = Price’.

TH g5 Sged vd diwia STafEr = s %a@ﬁﬁnﬁaﬁtwﬁm%
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12, Explain how a fall in prices of the related goods affects the demand

for the given good. Give example. 4

g awgell @ FHEd FH eM 9§ & T o %] & 5 W yWe ugd § 2
TR R e A |

13. What is a supply schedule ? Explain how does change in technology of
producing a good affect the supply of that good. 4

OR

Define supply curve. How does fall in price of an input affect the
supply of the good using that input ? 4
of iferer @ 2 2 e ¥ uReds @ S oaw S I W e we e
3 ? FHEmT |

gaT
oS @ & qReTwr T | TE ST @ simd fRA 1 SW S @y H o
W g & 9fd W T 9WE vedr @ 7 EesT |

14. Giving reason, explain the behaviour of total product under the Law of

Variable Proportions. Use diagram. _ 6

e U & M % S=Ed §A W F FEgR FRUT <d gC HAERT |
Wi & ¥ ST |

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 14.

qE Ffofae g9 dec g aiientaal & fog yv7 9& 14 & @H W8 |
Giving reason, explain the behaviour of total product under the law of

variable proportions. Use a schedule. 6
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15. Explain the conditions of consumer’s equilibrium with the help of
indifference curve analysis.

SARE 9% favaly I WEEar ¥ SUdRE §qed @Y IR |

16. Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use diagram.

OR

Distinguish between ‘cooperative’ .and ‘non-cooperative’ oligopoly.
Explain the following features of oligopoly :

(i)  Barriers to the entry of firms
(ii) Non-price competition
TS T H ISR Ggod ¥ 2 | g%y H O H e ot @ 1 39 ufEdd F IR
T 9 YUl H GEe GHEST | @feT H AT @i |
o
T ok hewEArt orER ¥ A o SR | sewfvER @ free
ERLCIEEE I |
@ wE F v H e
(i) R-Fma wfEf

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 16.

M Frfeaiae 5o &ae7 gRg qignday & T J97 §ewr 16 & @A W §

~ Market for a good is in equilibrium. Supply of the good ‘decreas.es’.
Explain the chain of effects of this change. Use numerical example.
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SECTION B

g q
-/

17. Define ‘capital goods’. - 1
Yol areqal’ @ aRwr @S 1

18. Define ‘real’ gross domestic product. 1
‘A ThA el SAR & uRme ST |

19. Define Legal Reserve Ratio. v 1
dy e g s @ aftamr R |

20. What are demand deposits ? 1
win Sl @ @ eifmmg 2

21. What is balance of payments ? 1

YA Oged § 4 S g 2

22. What are the components of the current account.of the ‘balance of

payments account ? 3

T Uqe @ & =] ($SieR) @ F 925 FaRET |

23. Explain how ‘externalities’ are a limitation of taking gross domestic

product as an index of welfare. 3

TR 5 59 TR TR Y9 GHd W AT H AT H gAF AAT § TH
g g
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24.

25.

26.

27.

An economy is in equilibrium. Its consumption function is
C = 300 + 0-8 Y where C is consumption expenditure and Y is income

and investment is ¥ 700. Find national income.

wF sfeER Gqed # 8 | TEE ST e C = 300 + 0-8 Y § e C smi
&g 3R Y o @ R Few T 700 % | U¥E I 9@ ST |

Explain with the help of examples, the distinction between direct tax

and indirect tax.

IR F HEEAT T eI H S e FH IR WA |

When price of a foreign currency rises its supply also rises. Explain,
why. ‘
OR

When price of a foreign currency falls its demand rises. Explain, why.

v Ryl g5 & Swd 9% S @ o sue g of s W @ | ey, U@
= |

HYAT

o R A F A A Ot @ A R A w9y S g wEwy, W

=i |

Explain the ‘economic stability’ objective of a government budget.

OR

Explain the ‘allocation of resources’ objective of a government budget.
TER aoe H ‘s frar RyT 9uemRy |
Jrerat |

TR oo & Gl H STeed’ ILYT HIRY |
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28. From the following data about a government budget find (a) revenue

deficit, (b) fiscal deficit and (c) primary deficit : , 4
/ X arab)
(i) Plan capital expenditure 120>
(ii) Revenue éxpenditure 100
(iii) Non-plan capital expenditure 80
(iv) Revenue receipts 70
(v)  Capital receipts net of borrowing 140
(vi) = Interest payments 30

WEY d5e & IR § i sieel 9 (%) 99 UET, (@) (SENE qe] SR
(1) MgfHe "eT I SN

B R 31F)
1) EIECIGISINEEC D) : 120
(i) U =Y 100
(i) R-ASErE o = 80
(iv) Twe it 70
(v) 3UR SR Y wiftar - 140
(vi) S e 30

' 29. Giving reasons, explain the treatment assigned to the following while
estimating national income : 4

@) Payment of income tax by a firm

(ii)  Festival gift to employees ,
FROT T L THEMEY 6 TP g & oeed wXd w9y fefafed & wg
R Rl ST ]
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30. Explain the role of the following in correcting deficient demand in an
economy :

(1) Government expenditure
(ii)  Legal reserve
OR
Explain the role of the following in correcting inflationary gap in an
economy :
(1) Open market operations
(i1i)) Government expenditure
U spfereeen § Sl AT R A A fefafed @ 9 TERT
i) - ey
(i) v sfEm fAfy
AT
Tw o § Tt R @ w0 A Fefofen #@ i e
() gl IR FHEE
(i) HEH =Y
31. How do commercial banks create credit ?

EEiiE S% grg o 38 ) 8§ ?

32. Calculate National Income and Personal Disposable Income from the

following :
(X crore)

(1) Personal tax - 150
(ii) Net imports (=) 10
(iii) Private final consumption expenditure 700
(iv) Private income , 600
(v)  Undistributed profit 20
(vi) Net domestic capital formation 120
(vii) Government final consumption expenditure 200
(viii) N‘et factor income to abroad (-)5
(ix)  Corporation tax * 100
(x)  Net indirect tax 105
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frafafaa @ oftg e o Saftre yaisy o uRsfera @i

R #3)
()  FafEs = 150
(i) fraer st (-) 10
Gii) forel sifw som e | 700
(iv) fht e 600
(v) SfaaiEd o™ ; 20
(vi) T <ufg O oy 120

(vil) HE sifad s9um == | 200

(viii) facit B e (TTeFT) 3T (=) 5
(ix) frm g - | 100
(x) e swey & 105
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